Baldwin County Highway Department Estimate Sheet

DATE	10/4/2018	Area:	100	
REQUESTED BY: Tina Covington		SPONSORED BY:	BCSO	
LOCATION Bay Minette				

Scope of Work: Installing crosswalks with White, Black, & Blue Thermo

for the BMPD and Sheriff's Department. This cost estimate includes installing both crosswalks.

ITEM	DESCRIPTION	UNITS	QUANTITY	UNIT COST	S	UBTOTAL
1	EQUIPMENT					
24776	2007 Pickup Ford F150 XLT	MILES	75	\$ 0.54	. \$	40.5
78572	2014 Flat Bed - Sign Ford F550	HOURS	10	\$ 46.38	\$ \$	463.8
	TOTAL				\$	504.3
2	LABOR					
	MAN HOURS - 5 EMPLOYEES	HOURS	50	\$ 30.00	\$	1,500.0
	TOTAL				\$	1,500.0
3	MATERIAL					
	THERMO (BLUE) 12"x3'	SQ FT	120	\$ 2.87	\$	344.4
	THERMO (WHITE) 12"x3'	SQ FT	120	\$ 2.55	\$	305.7
	THERMO (BLACK) 12"x3'	SQ FT	360	\$ 2.45	\$	882.0
	TOTAL				\$	1,532.1
	TOTAL COST ESTIMATE				\$	3,536.4
		<u> </u>				•
					+	
					+	

-			
-			

-			
-			
-			
-			
-			
			_

 	 	-
		-
		-

-	
-	
	 -